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By a tied up ox and a covered pit — 770127 T2 WP W2

Overview

The X713 cited a Xn>>72 which stated that if one gave over a 7121 MY to a 1"'wn
and it damaged he is 217; however if he gave over WX to a 1'wn, then he is
Tvd. The XM analyzes this Xn>73, if we are discussing a 710121 7121 NWP MW
(that the owner is 2°17) and therefore the WX case is in a similar situation by a
nonx (and the owner is Mwd); why is there a difference between a MWp W
70191 21 and a nna? The ruling should be the same by both of them. noIN
will discuss what is meant by 701272 7121 MWwp NW.
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The interpretation of 70121 721 MWwpP MW is that it was tied and covered

properly; for if it were not done properly, it is worthless. We cannot refer to
a 170197 M MW MW if it is not 7M™ WP properly.

mooIn initially argued that logically one must assume the 791211 WP means *IX12; now
mooIn offers a proof from the X713 that it was 1812 70120 NWP:
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And furthermore since the X713 asks ‘what is the difference here (by 1w
T12) from there (by n>m3)’; the implication of this question is that in both

instances (by 121 W as well as by n%n)) the owners should be exempt from
paying. If, however, it was not “X13 1701211 MWp, then why should there be an assumption
that the owner is Mw9?!>

moon will now prove that the intent of the question 121 X277 w'"n was that in both cases the
owner should be Mwo:*
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Since the X773 retracts and establishes the case of 7121 7w by an untied ox

and an open pit.4 This proves that the question 121 X277 w"» was that they should be
7100, which proves in turn that it was 1IR3 7701221 MWPp.

Summary
10121 MY MR MY means that it was "IX12 7010M MTP.

" See " 1"7 >"wn where it is implied that it was not >¥X7 MWwp. DO is rejecting this interpretation.

* See ‘Thinking it over’.

? One could argue that perhaps the intent of the question 121 X371 w'"» was that in all cases the owner should
be 2>11. Therefore there is no proof from the question of 121 X5;1 w'"n that we are discussing 701311 MWP
*IX72. MBI rejects this argument; the question 121 X577 ¥"» must mean that they should be 7v5.

* If the assumption by n%m 7019m MW is that the owner should be 2, so then certainly by a 7221 9
na7owy the owner will be 2. What is gained by the retraction?! If, however the assumption is that by wp
n>m 7019m he should be 71wd, then the retraction is understood, for by 72111 7 he should be 2»n.
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Thinking it over

moon argues that if it was not "X72, then why should we presume that o7
D>wd. Perhaps the X713 is arguing that if by nomx he is Mwd (even if it is
possible that it should ignite) then by 7121 71w which are not “X72 7013m WP
should also be 5. There was, however, no inherent assumption that X5w
"X should be 7ws.
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